2025/09/03 23:53 1/5 ooog

ooy

000 Max.D.

gooo

00
000000000000dpd 000 $dplil=\sum dpljI*wik]$ ($i,j,k$0 O $j\lor k=i,j \land k=0$00 O
0o0o0000oO0O0ooo

00000000000000004$3 n$0000000
D00000000000FWTOOOODODODODOO00000O$\land k=0$000
D000000000$$01000+$k$01000=%$i$010000000000%dp$0 000" 100
O" 00000000o0o0oQgs$s dplent illil=\sum_{(jlk)==i}dplcnt_jl[jl*wlcnt_i-cnt jl[k] $$ O O C
O$ent i$001000000000000000000%ent i$0%$0 0001000000000
O$dp$00$ws0 000000 0000000000 0%ent$00FWTO DD O O0O0O0DDOOO00O0OO
000004$dp$0 00000000000 0%dplenti]$0000%ent i$000000000000
O$dp$OFWTO OO D OO
0000000000000000000%n$0FWT+$n"2$0 0000000
O0%$0((27n*n)*n+n"2*¥27n)=0(n"2*¥27n)$[]

00

00 O O https://ac.nowcoder.com/acm/contest/5157/D

0000000000000 0000000000000000000%i|j$00000000
0 $(ij)+k$0 FFT/NTTOO O O O $((i]j)+k)\otimes h$OFWTO OO O OO0O0O0O0 OO

#include <bits/stdc++.h>

#define N 262144

using namespace std;

const int mod = , 1nv2 =

int n;

int rev[N], lim, hib;

int AIN!, B[N], CIN/, DIN|, popc|N/;
h

int f NI, g NI, NI;

inline int Add(int u, int v u+=v) >=mod ? u - mod : u;
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inline void Inc(int &u, int v u+=v) >=mod) u -= mod;

inline int fpm(int x, int y
int r = 1;
y
y & r=1LL * x * r % mod;
X = 1LL * x * x % mod, y >>= 1;

r;

inline int read
int x = 0;
char ch = getchar();
lisdigit(ch ch = getchar();
isdigit(ch)) x = x * + ch - '0', ch = getchar();
X;

void getrev(int len

lim = 1, hib = -1;
lim < len) lim <<= 1, ++hib;
int i = 0; 1 < lim; ++1
revii/ = (rev[i >> >> | i& << hib);

void fwtOr(int *a, bool type

int mid = 1; mid < lim; mid <<=
int i = 0; i < lim; i += (mid <<
int j =0; j < mid; ++j

type) Inc(ali + mid + j|, ali + j!);
Inc(ali + mid + jI1, mod - ali + jl);

void fwtXor(int *a, bool type
static int x, y;

int mid = 1; mid < n; mid <<=
int len = mid << 1, i = 0; 1 < n; i += len
int j = 0; j < mid; ++j

x =ali+jl,y=ali+mid+ ji;
ali + jl = Add(x, y), ali + mid + j| = Add(x, mod - y);

I'type
ali+ jl = 1LL * inv2 * ali + j| % mod,
ali +mid + j| = 1LL * inv2 * ali + mid + j| %
mod ;
void NTT(int *a, bool type
int 1 = 0; i < lim; ++i
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i< revl|i
swap(alil, alrev/|i ;
static int x, y;

int mid = 1; mid < lim; mid <<=
int len = mid << 1, wn = fpm(3, (mod - / len);
int 1 =0; i< lim; 1 += len
int j =0, w=1; j <mid; ++j, w = 1LL * w * wn % mod

X =alli+jl, y=1L *w * ali + mid + j| % mod;
ali + jl = Add(x, y), ali + mid + j| = Add(x, mod - y);

I'type

reverse(a + 1, a + lim);
int inv = fpm(lim, mod - ;

int i =0; 1 < lim; ++1i
ali] = 1LL * inv * ali] % mod;
int main
n = read(), ++n;
getrevin + n - E

int i = 0; 1 < 1im; ++1i) popcli] = popcli >> + (1 & 1);
int i ;1 <n; ++1i) Ali] = read(), flpopciil![i] = Ali]l;
int i ;1 <n; ++i) Bli] = read(), glpopcli i] = B[i];
int i ;1 <n; ++1) Cli] = read();

int 1 = 0; i < n; ++1i) D[i] = read();

int 1 = 0; i <= so4++1

fwtOr(f[i|, true), fwtOr(g/i!, true);

int sa = 0; sa <= ; ++sa

int sb = 0; sb + sa <= ; ++sb
int i = 0; 1 < lim; ++i
hisa + sb|/i] = (hisa + sb|/[i] + 1LL * fisal/[i] * g[sb]|[i
% mod;

int 1 = 0; i <= ;4L

fwtOr(h[i], false);

int i ;1 < lim; ++i

Ali] = hlpopc|i il;

NTT(A, true), NTT(C, true);
int 1 = 0; i < lim; ++1i
Alil = 1LL * A[i] * Cli] % mod;
NTT (A, false);

fwtXor (A, true), fwtXor(D, true);
int 1 = 0; i < lim; ++i
Alil = 1LL * A[i] * D[i] % mod;
fwtXor (A, false);

int Q = read();
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Q--) printf("sd\n", Alread ;
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